Q3:About interrupt handling
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E 23. Thermal Shutdown \and Sensor Ex%ﬁile\
Why is it clear that you are not
clearing the interrupt?

Interrupt occurred.  Clear interrupt.

Interrupt occurred.



Q5:Regarding address setting regarding multiple use of LP 8863 device

&= 8. I2Z0 Address Kegisters Selection

$S_ADDRSEL PIN 7-BIT BASE ADDRESS | 7-BIT SLAVE ADDRESS ACCESSIBLE 10-BIT REGISTERS
0x2C 0x000 to 0xDFF
0x2D 0x100 to Ox1FF
GND 0x2C
0x2E 0x200 to 0X2FF
0x2F 03006 0x3FF
0x3C 05900 to 0XOFF
0x3D _0x100 to Ox1FF
VDDIO 0x3c
0x3E 0x200 to 0x2FF
0i3F 0x300 to 0x3FF

Write 12C transactions are made up of 4 bytes. The first byte includes slave address and Write bit. The
7-bit slave address selects the LP8863,01 slave device and one gf four/B-bit register address sections. The
second byte includes eight LSB bits gf the 10-bit register address. last two bytes are the 16-bit register

value.
Read I12C transactions are madg up of five bytes. The fir ludes the 7-bit slave address and Write bit
The 7-bit slave address selec ice ang/one of four B-bit register address sections. The
second byte includes eight LSB bits of the 1[] bit regl er addrgés. The third byte includes the 7-bit slave address
and Read bit. The last tw er valug/returned from the slave.
7 1 2 3 4 5 @6 7 & 8 1 2 3 4 5 8 T H g

w LT ﬂﬂ_ﬂ_ll Uiy uuyuyuyyy
SDA | Il"ﬁ ID"; D4 ID3 I'_‘u ID |I'3‘3 W” & TAT AG AR A.-i .t\. .tl? .tl1 nn@m 08 D5 I'):'Il_ I')" DJ D1 nn@nﬁncn 1n JI"JH I'!1(' (5] Di@ |

-d—? bat SLAVE ID—- T BhlAJDRESS [—— 3-bil DATA LS‘E — e BthJ\T."\ MSSS B

WRITE bit

32. 12C Write

--------

g ULIJ__L__I_JJI_LJ____ILI_

3 avs A5 N Al -'u'/_\ Dc I[J‘ﬁ |r‘ \ oz |U| CL -fOll D605 D4 D3 o2 mm Ja\:,“l IIMDI D2 0 D 08 08
2k ADDRESS LEBs -é - ¥ L B-bit DATA LS3s o L 54l DATA MSEs ———el
READ |>(—v

B 33. 12C Read
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Table 8. Looking at the 12C Address Registers Selection, ACCESSIBLE 10-BIT
REGISTERS is 10 bits.

However, 12Cwrite in Figure 32 and read in Figure 33 have only 8 bits.
Even in the address map, | think that | prepare an address for 10 bits.

How do you recognize it with fewer 2 bits?



Question 15: ELP8863EVM About changing the DISP_BRT register

“LP 8863 EVM and GUI are used.
= Hybrid dimming mode
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Waveform 1
Voltage waveform of LED PIN Voltage waveform of LED PIN

- DISP_BRT =0004 h change

= DISP_BRT =00FF h or more
“EN: OFF=ON

- DISP_BRT =0065 h change
“EN: OFF=ON

Question:
The waveform of LED — PIN changes (waveform 1 — 2), but

why does it change?
Is there any countermeasure?



